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The Invasion of Crooked Oak

Who is Nancy's father? b)

President of BioMesa
Headteacher

Owner of a shop

Why is ‘fracking’ used? b)

Stop the ground from landsliding
Produce better crops

Release and collect underground gas

What signs does Nancy notice in her
house which seem strange?

Empty cupboards and no food
TV is always on

Curtains are drawn and a smell of damp

What does Krish want to tempt

Vanilla ice-cream

b) Turkish Delight
“ Nancy's mum to eat? it S

¢) Fish and chips

. a) Boots
5 What is the, name of the company b) Biomedical
Nancy's mum works for?
c) BioMesa
' a) The pods
What part of the fungus is used to b) The leaves
infect people of Crooked Oak?
¢) Thevines

How are Mr. and Mrs. Finney
planning to infect everybody?

By poisoning the water
At school, during an emergency meeting

By sending spores in the post

Which weapon finally works against
the Infected?

Mr Muscle Ritchen spray
Paint

Mould Blaster spray

How has Mr. Finney changed in
appearance?

Pale, eyes clouded, grey-green fibres over lips
Strands of purple hair on head, green skin

Red eyes, two noses, purplish skin

10

What does Pete see in the hole at the |
bottom of the trunk that turns his |b)

‘blood to ice”? c

Wallet full of money
Screaming human face

His spooky reflection
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The Invasion of Crooked Oak

Who is Nancy's father?

Why is fracking’ used?

What signs does Nancy notice in her
house which seem strange?

What does Krish want to tempt
Nancy's mum to eat?

What is the name of the company
Nancy's mum works for?

What part of the fungus is used to
infect people of Crooked Oak?

How are Mr. and Mrs. Finney
planning to infect everybody?

Which weapon finally works against
the Infected?

How has Mr. Finney changed in
appearance?

10

What does Pete see in the hole at the
bottom of the trunk that turns his
‘blood to ice"”?
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